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QUESTION 1

Which product offering enables non-exclusive relationships between multiple projects and tasks with contracts and
contract lines? (Choose the best answer.) 

A. Project Contract-based costing 

B. Project Contract-based billing 

C. Project Contract Collection Center 

D. Contract Team Connect 

Correct Answer: B 

Reference http://www.oracle.com/us/products/applications/fusion/fusion-proj-port-mang-solut- brief-173079.pdf (Page 2)
Flexible Contract-Based Billing Traditional contract and billing systems enforce a rigid relationship between a project
and a funding agreement, which can constrain project setup and execution. Oracle Fusion Project Portfolio
Management provides a highly flexible approach to project contract-based billing via a non-exclusive relationship
between multiple projects and tasks with contracts and contract lines. This means that you will have full control over
defining contracts, rates and limits, and when and how to recognize revenue and generate invoices while segregating
the planning and execution of your projects. 

 

QUESTION 2

Your company uses an accounting calendar with periods that are identical to calendar months. A contract resource has
been identified to work for six months on an accounting close cycle project. The resource is planned to start with 10
days 

left in the first period and to end 20 days into the last period. For the remaining periods, the resource must be loaded on
all working days of the month. You are required to distribute the budget, forecast, and planning amounts across periods 

based on the task duration. 

Which predefined spread curve must be used to meet this requirement? (Choose the best answer.) 

A. Daily Spread Basis 

B. Back Loaded 

C. Bell Curve 

D. S-Curve 

E. Even 

Correct Answer: A 

Ref: https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19a/oapfm/project- control-configuration-
manage-spread-curves.html#OAPFM79760 Predefined Spread Curves Name Description Dist. Factors 

Even Linear distribution of financial or project plan values across periods. 10-10-10-10- 10-10-10-1010-10 Prorated
Linear distribution of financial or project plan values across periods, with an exception of 10-10-10-10- Even the first
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period and last period in the financial plan. Financial or project plan values for 10-10-10-10- the first period and last
period are prorated based on the number of days in the period. 10-10 Back Back-loaded distribution of financial or
project plan values across periods. Assigned 0-5-10-15-20- Loaded amounts increase over succeeding periods.
25-30-35-40Front Front-loaded distribution of financial or project plan values across periods. Assigned 45-40-35-30-
Loaded amounts decrease over succeeding periods. 25-20-15-10- 5-0 S Curve S-shaped distribution of financial or
project plan values across periods. 18-10-8-10- 15-17-18-1715-8 Bell Curve Bell-shaped distribution of financial or
project plan values across periods. Assignment of 0-4-10-12-14- plan values is highest in the middle periods.
12-10-4-0-0 Daily Spread is based upon the number of days in each financial period throughout the None Spread
duration of the task assignment. Amounts are proportionally distributed throughout all Analysis periods for the duration
of the task assignment 

 

QUESTION 3

Your customer wants to calculate Estimate to Complete (ETC) as the difference between Current Planned Cost and
Actual Cost. In Progress Settings, which option would you use in conjunction with the ETC method to meet this
requirement? (Choose the best answer.) 

A. Effort 

B. Cost 

C. Manual Entry 

D. Remaining Plan 

Correct Answer: B 

Reference https://ppmhelp.saas.hpe.com/en/9.42/Help/Content/UG/PjMUG/view_pj_cost_data_costtab.htm Below is an
example of the Financial Summary view on the Cost tab of the Project Overview page. 
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QUESTION 4

Which two statements describe how the Resource Qualification Score is calculated? 

A. An individual\\'s score is 100% if the resource request has a qualification with a specified proficiency and the
resource does not have the qualification. 

B. An individual\\'s score is 100% if the resource request has a qualification, but no proficiency is specified, and the
resource has the qualification. 

C. An individual\\'s score is 100% if the resource request has a qualification with a specified proficiency and the
resource has the qualification that meets the specified proficiency. 

D. An individual\\'s score is 100% if the resource request has a qualification with a specified proficiency and the
resource has the qualification with a proficiency that is lower or higher than specified. 

Correct Answer: CD 

 

QUESTION 5

You have four resources in your organization: P, Q, R, and S. 

Resource P - Project or resource calendar is active. 
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Resource Q - Project resource request dates are within the project or resource calendar effective dates. 

Resource R - Resource calendar is complex, it does not contain seven days, and it contains more than one pattern and
shift. 

Resource S - Number of working days within the requested date range is not zero on the project or resource calendar. 

Identify the resource for whom Resource Availability Capacity Score will not be calculated. (Choose the best answer.) 

A. P 

B. Q 

C. R 

D. S 

Correct Answer: C 

Ref: https://docs.oracle.com/en/cloud/saas/project-portfolio-management/19a/oapem/evaluate- and-assign-
resources.html#OAPEM916359 Topic - Resource Available Capacity Score: How It\\'s Calculated Calendars Used to
Calculate Resource Available Capacity Scores How the Resource Available Capacity Score Is Calculated 
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